s JRRRE (Bv)  (CFR)

. B 4
WE W% AR | g | | G| |
Sopll 1= e | 05 34 05 : 33 -1
Sopll = AR | 06t 04 06 : 02 -2
e = el | 06t 34 06 : 32 -2
Se il FarlE | 07 104 07 : 02 -2
Se il FerlE | 07 134 07 : 34
Se il FrerlE | 08 107 08 : 07
e = FrarlE |08 41 08 : 41
e = FarlE |09 115 09 : 15
e = e |09 55 09 : 55
e = FerlE |10 129 10 : 30 +1
e = FerlE |10 159 11 : 04 +5
foRli! 1= FrerlE |11 129 11 : 34 +5
w1 = FrerlE |11 : 59 12 : 04 +5
w1 = BFrerlE o] 12 029 12 : 34 +5
foRli! e HarlE |12 159 13 : 04 +5
foRli! e e |13 129 13 : 34 +5
SRl 1= HreflE | 13 159 14 : 04 +5
SRl 1= HrerlE |14 129 14 : 34 +5
SRl 1= HeflE | 14 159 15 : 04 +5
SRl 1= HreflE |15 129 15 : 34 +5
SeRli! 1= BHrerlE | 15 159 16 : 04 +5
SeRli! 1 HerlE |16 129 16 : 34 +5
SeRli! 1= HarlE |16 159 17 : 04 +5
SoRli! 1= el |17 129 17 : 34 +5
w1 1= HFrerlE |17 059 18 : 04 +5
SRl 1= e |18 129 18 : 34 +5
SRl 1= HreflE | 18 159 19 : 04 +5
SRl 1= BHrerlE |19 129 19 : 34 +5
SRl 1= HerlE |19 159 20 : 04 +5
SRl 1= HrerlE |20 129 20 : 34 +5
SRl 1= FrerlE |20 159 21 : 04 +5
SRl 1= FerlE |21 129 21 : 34 +5
SRl 1= BFreflE |21 159 22 : 04 +5
SRl 1= BFrerlE | 22 136 22 : 40 +4




s AR (Fv)  (CFER)
> e

ME | W% A% | e | | G| |
Se e Frarlg 7= 06 : 00 05 : 59 -1
Se i el 7= 06 : 30 06 : 29 -1
e Fralle il 07 : 00 06 : 59 -1
Se Fralla il 07 : 30 07 : 30

Se Fralla il 08 : 02 08 : 02

SRl FHralla = 08 : 35 08 : 35

e el 7z 09 : 09 09 : 10 +1
e Fralla 7z 09 : 50 09 : 51 +1
e Frall ZiE= 10 : 26 10 : 26

e Fralla 7z 10 : 56 10 : 59 +3
e Fralla 7z 11 : 26 11 : 31 +5
foRli! Fraf = 11 : 56 12 : 01 +5
foRli! el = 12 : 26 12 : 31 +5
foRli! Fraf = 12 : 56 13 : 01 +5
foRli! Fral = 13 : 26 13 : 31 +5
foRli! Hral = 13 : 56 14 : 01 +5
SeRli el (il 14 : 26 14 : 31 +5
SeRli| Frerlid (il 14 : 56 15 : 01 +5
SeRli el (il 15 : 26 15 : 31 +5
SeRli el (il 15 : 56 16 : 01 +5
Se Rl el (il 16 : 26 16 : 31 +5
Hm el (il 16 : 56 17 : 01 +5
Se Rl el (il 17 : 26 17 : 31 +5
Hm el (il 17 : 56 18 : 01 +5
Hm el (il 18 : 26 18 : 31 +5
Je il el (it 18 : 56 19 : 01 +5
Je il el (it 19 : 26 19 : 31 +5
Je il el (it 19 : 56 20 : 01 +5
Je il el (it 20 : 26 20 : 31 +5
Je il el (it 20 : 56 21 : 01 +5
So i el 1= 21 126 21 : 31 +5
So i el 1= 21 : 56 22 : 00 +4
So i el 1= 22 133 22 : 37 +4
So i el 1= 23 1 02 23 : 07 +5
Se i el 1H s 23 132 23 : 35 +3




s RRRE (Bv)  (IRA)

. B 4
WE W% AR | g | | G| |
Sopll 1= e | 05 40 05 : 40
Sopll = e | 06t 12 06 : 12
e = HFerlE | 06 45 06 : 45
Se il HFerlE | 07 120 07 : 20
Se il FrarlE | 07 155 07 : 55
Se il FrarlE | 08129 08 : 34 +5
e = FrarlE | 08 159 09 : 04 +5
e = FerlE |09 129 09 : 34 +5
e = FarlE |09 159 10 : 04 +5
e = FerlE |10 129 10 : 34 +5
e = FerlE |10 159 11 : 04 +5
foRli! 1= FrerlE |11 129 11 : 34 +5
w1 = FrerlE |11 : 59 12 : 04 +5
w1 = BFrerlE o] 12 029 12 : 34 +5
foRli! e HarlE |12 159 13 : 04 +5
foRli! e e |13 129 13 : 34 +5
SRl 1= HreflE | 13 159 14 : 04 +5
SRl 1= HrerlE |14 129 14 : 34 +5
SRl 1= HeflE | 14 159 15 : 04 +5
SRl 1= HreflE |15 129 15 : 34 +5
SeRli! 1= BHrerlE | 15 159 16 : 04 +5
SeRli! 1 HerlE |16 129 16 : 34 +5
SeRli! 1= HarlE |16 159 17 : 04 +5
SoRli! 1= el |17 129 17 : 34 +5
w1 1= HFrerlE |17 059 18 : 04 +5
SRl 1= e |18 129 18 : 34 +5
SRl 1= HreflE | 18 159 19 : 04 +5
SRl 1= BHrerlE |19 129 19 : 34 +5
SRl 1= HerlE |19 159 20 : 04 +5
SRl 1= HrerlE |20 129 20 : 34 +5
SRl 1= FrerlE |20 159 21 : 04 +5
SRl 1= FerlE |21 129 21 : 34 +5
SRl 1= BFreflE |21 159 22 : 04 +5
SRl 1= BFrerlE | 22 136 22 : 40 +4




HEE JRRRE (Fv)  (URA)
> e

ME | W% A% | e | | G| |
Se e Frarlg 7= 06 : 07 06 : 07

Se i el 7= 06 : 40 06 : 40

SRl Fralle = 07 : 15 07 : 14 -1
SRl Fralla v 07 : 50 07 : 49 -1
Se Fralla il 08 : 26 08 : 29 +3
Se FHralla il 08 : 56 09 : 01 +5
e el 7z 09 : 26 09 : 31 +5
e Fralla 7z 09 : 56 10 : 01 +5
e Frall ZiE= 10 : 26 10 : 31 +5
e Fralla 7z 10 : 56 11 : 01 +5
e Fralla 7z 11 : 26 11 : 31 +5
foRli! Fraf = 11 : 56 12 : 01 +5
foRli! el = 12 : 26 12 : 31 +5
foRli! Fraf = 12 : 56 13 : 01 +5
foRli! Fral = 13 : 26 13 : 31 +5
foRli! Hral = 13 : 56 14 : 01 +5
SeRli el (il 14 : 26 14 : 31 +5
SeRli| Frerlid (il 14 : 56 15 : 01 +5
SeRli el (il 15 : 26 15 : 31 +5
SeRli el (il 15 : 56 16 : 01 +5
Se Rl el (il 16 : 26 16 : 31 +5
Hm el (il 16 : 56 17 : 01 +5
Se Rl el (il 17 : 26 17 : 31 +5
Hm el (il 17 : 56 18 : 01 +5
Hm el (il 18 : 26 18 : 31 +5
Je il el (it 18 : 56 19 : 01 +5
Je il el (it 19 : 26 19 : 31 +5
Je il el (it 19 : 56 20 : 01 +5
Je il el (it 20 : 26 20 : 31 +5
Je il el (it 20 : 56 21 : 01 +5
So i el 1= 21 126 21 : 31 +5
So i el 1= 21 : 56 22 : 00 +4
So i el 1= 22 133 22 : 37 +4
So i el 1= 23 1 02 23 : 07 +5
Se i el 1H s 23 132 23 : 35 +3




